rifler) Shapely Pairs — triangle cards

The first part of this challenge is a game for two players; then there are
some questions you can think about.

You might have played a version of this game called Pairs, or

Pelmanism. To play this version of the game, shuffle the cards and then
lay them face down on the table, arranged in rows. Players take turns to
turn over two cards. If the player can draw a triangle with the two
properties shown, then s/he takes the cards. If not, once all the players
have looked at the two cards and see where they belong, the cards are
turned back over. It will help you if you can remember where the cards
are! The game finishes when no matter which two cards are turned over,
there is no triangle with both of those properties. The winner is the person
with the most cards at the end of the game. Good luck!
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Now here are some questions to get you thinking.

e Suppose instead of having the cards face down we have them all
face up. If it's your turn first, and you want to take a pair of cards,
how many possible pairs of cards could choose? Can you list all the
possible pairs?

e At the end of the game, you might be left with some cards that can't
be paired up. What's the largest number you could be left with like
this? What's the smallest? Give examples for each.
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